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Please check that this question paper contains 8 printed pages and 2 pages of maps.

Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

Please check that this question paper contains 22 questions.
Please write down the Serial Number of the question before attempting it.

15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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(iv)

(v)

(vi)
(vii)
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150 /5t @ 37 %7 7@l g7 TRy |

79T G&q7 21 — 22 HAEE W RT 7T imiicies eyv i gg= a1 Rt far e e
F G Gl & | GAH TeT &5 HEE |
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G- T T & fora @ie srerar @Adent & FaT Bt 3HfT & S &

(viii) T 797 AfFard & |

General Instructions :

(i)
(ii)

(iii)

(iv)

(v)

(vi)

(vii)

There are 22 general questions.

Question No. 1 — 7 are very short-answer questions carrying 1 mark each. Answer to
each of these questions should not exceed 40 words.

Question No. 8 — 13 are short-answer questions carrying 3 marks each. Answer to
each of these questions should not exceed 80-100 words.

Question No. 14 — 20 are long-answer questions carrying 5 marks each. Answer to
each of these questions should not exceed 150 words.

Question No. 21 — 22 are related to identification or locating and labelling of
geographical features on given maps, carrying 5 marks each.

Outline maps of the World and India provided to you must be attached within your
answer-book.

Use of templates or stencils for drawing outline maps is allowed.

(viii) All questions are compulsory.

1. UR-FATea Yormm & 3t faRi o Reml & =W fofaw | Vy+1h=1

Write the names of terminal stations of Trans-Canadian Railways.

2. WA H UTHIOT Heehi & Hcel H UTefRTeh foremer s € 2 1

Why is there a regional variation in the density of rural roads in India ?
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3. YR T TeT S UTE i T 31k ST 31 § 2 Ush HRUT ST | 1

Why has the quality of water decreased considerably in India ? Give one reason.

4. I H H, 7HE Fed € 2 1

What is dryland farming ?

5. C“HRMTC Y5 &l ORI ity | 1

Define the term ‘Metropolitan City’.

6.  YRA % ITR-RI0T et & FaRi o ReFl & AW fofaw | Vy+1h=1

Name the terminal stations of ‘North-South Corridor’ of India.

7. RA H W SR SToT BT T 32 UTa9Td SToT ol &1 SUFNT i foham ST Hehell € 2 1

Why is about 32 per cent of the available surface water can be utilized in India ?

8. WA i UHIUT 3R T Si&dal i g diH-a foRuan fafEw | 1% +1%=3

Write any three features each of rural and urban settlements of India.

9. THR H U 3R UT RIS AR % J TAvER F Fecdld € ? W ST | 3

Why are the harbours and ports called the chief gateways of international trade in the

world ? Explain.

10. 9RA T STeT UgHUT i FRIT & & fofw i e Sur geiew | 3x1=3

Suggest any three measures to control water pollution in India
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11. O FeX 9 TR gai 3R av=et 3HT gHareT o fow snfvrss & YavER & ®9 H S Hl
T 7 STGHT SSER0T Hfed W HIfT | 3x1=3

How does the ‘Suez Canal’ serve as a gateway of commerce for both the eastern and

western worlds ? Explain with suitable examples.

12.  “gH 310 WS GETeHT % GRET0T A B 31 NEvIwHAT & 7 T @eF B UM * [o1T
3MEYTF Godi Sl AT HIT | 3x1=3

“There is an urgent need to conserve our mineral resources.” Explain the values

needed to achieve this goal.

13.  “Uehid 3T TR Xl & 3R AHE SHT SUANT Al & qdT SR-H Fehf ol AeehIoT 8l
ST & 9T Uhid T IHE TETEl 6l 919 UgH ORIl & |7 39 U 1 SIE0T Gred [oweisor

aﬁﬁl@l Ix1=3

“Nature provides opportunities and humans make use of these and slowly nature gets
humanized and starts bearing imprints of human endeavour”. Analyse the statement

with examples.

14. =< STt Aifq fhe WK ScSehal ael TRl ASHIR § 90N g ol 991 W& H q0d
W ¥ 7 W HIT | 5

How has the ‘New Industrial Policy’ been able to maintain a sustainable growth in

productivity and gainful employment ? Explain.

15. faior fspamet & S=a diifient ford TehR Telias digl € 2 3SR 9Rd W ST | S5x1=5

How is the high technology industry latest generation in manufacturing activities ? Explain

with examples.
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16. 9RA & VG TS § g fahrd o TR § @i M= & o0 STeemt b=l ufe sReet i
AT BT | 5x1=5

Explain any five factors responsible for the spatial variations in the levels of Human

Development among the major states of India.

17. IUT AN = IWThicay & fafy=T o o ey Sufaen & Hewerqul uur wael ot [hd THR
I3 D 7 T DAY | 5

How did the Europeans introduce important plantation crops in the colonies situated in

different parts of the tropics ? Explain.

18. “UReE WRA & fafq=T Wi & S~ qor fafawar § usdr o= & =gd & Hewaqol Jfaes
T & 1 SITEAT Thed 39 FUA H gt HI | 5x1=5

“Transportation plays a very important role in linking the various parts of India and

brings unity in diversity.” Support the statement with examples.

19. SHEEAT & Ocd 1 378 41 € 2 fove § e & foaawor s gt S ol 9Ri o
HRH T TUH HIT | 1+4=5

What is the meaning of density of population ? Describe the four geographical factors

that influence the distribution of population in the world.

20. foremreeiict <91 § wrHi0T SRl ol TR ol GH@IST o1 WA 69 TR T @l © 2 fheel
e W @IS St ST HiY | 5x1=5

How are rural settlements facing different types of problems in the developing

countries ? Explain any five major problems.
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21. HER & €U 70 qeHifaes WW-AHES | U @0 A, B, C, D 3R E 3ifhd fu MU e | 37
RISl M T TS STHHRI Sl Teg H TgdHU AT 37 Gl AW 37 ek Gt TE T@ra
T feAtan : 5x1=5

(A) TIE FHH U Jheg I el <90

(B) =ITeTE WRIEROT T &

(C) UR-TETEE (eTHrT &1 37 Y &1 T
(D) W e

(E) 1 T

In the given political outline map of the world, five features A, B, C, D and E are
marked. Identify these features with the help of the following information and write

their correct names on its lines drawn near them :

(A) The country having the lowest population growth rate.
(B) The area of nomadic herding.

(C) The terminal station of trans-continental railway

(D) Mega City

(E) SeaPort

Ate : Fr=ferad e et gieaied wernfoat & o o I 21 % ©H W E

(21.1) fova & T 7 SHEEA I T AT I9T B A1 E 2

(21.2) TN B FoAaTHT TEROT T GG &F B G E 2

(21.3) UR-HTESRET HeTaIdt YordmT & gat fR & W 1 919 fafaw |
(21.4) TF % WM TR H A9 fA@T |

(21.5) SARferan & Tt ush U@ qqst uae 1 A1 fofa |
64/1/3 6



Note : The following questions are for the Visually Impaired Candidates only, in lieu

of Q. No. 21 :
(21.1)  Which country has the lowest population growth rate in the world ?
(21.2) Which is the well known area of nomadic herding in Eurasia ?
(21.3) Name the eastern terminal station of Trans-Siberian Continental Railway
(21.4) Name the Mega City of Iran.

(21.5) Name any one major Sea Port of Australia.

22, WRA % U T IR @1-AMEE H, Hetetad o [t suge e @ Kang $R s 6
1 feAfE 5x1 =5

() TR W@ g A ST % Galte ST Srel 9"

(i) SWES H FFeaaR W=NiTeh! I
(iii) PTHI o SR H SO T
(iv) TR ¥ oot I SHREMT

(v) YT ol 999 gl HelY (2001)

On the given political outline map of India, locate and label the following with

appropriate symbols :

(1)  The state having the highest percentage of population below the poverty line.
(i1) The software technology park in Uttarakhand.

(i11)) The State leading in coffee production.

(iv) An oil refinery in Bihar.

(v) The largest metropolitan city of India (2001)
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e : Fr=Terad o et geaied werforat & o uoe T 22 % ©H WE
(22.1) 39 5T T AW TAMGE, ST T W@ & e e SHEET 6 3 € |
(22.2) IIHEUS H Frd Wiree=R Wenfieh! umeh s 99 farEy |

(22.3) YRA T = I SO 3G 5T HiT 9T E 2

(22.4) TR ¥ Ted dct IMET HREH HT T4 Gy |

(22.5) 9Rd 1 TaH I HER (2001) B ATE ?

Note : The following questions are for the Visually Impaired Candidates only, in
lieu of Q.No. 22 :

(22.1) Name the State having the highest percentage of population below the poverty

line.
(22.2) Name the software technology park located in Uttarakhand.
(22.3) Which is the leading tea producing State in India ?
(22.4) Name an oil refinery located in Bihar.

(22.5) Which is the largest metropolitan city of India ?
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Map for Q. No. 22
e 9. 22 & oo aetas

68° 72° 76° 80° 84° 88° 02° 96°
i i
INDIA I
Boundary International Boundary, State/UT
KILOMETERS

100

100 50 0 200 300 400 500

_J32°

Cut Here -===-=—==-—=-=-——= FEJFHE ~—————-——~

/ [ | | | |
72° East of Green wich  76° 80° 84° 88° 92°

------ CutHere -----------: FE &L

64/1/3 11



64/1/3

12



